Encryption Key Analysis

https://studio.code.org/s/frequency analysis/stage/1/puzzle/1

Caesar Shift

Shift the substitutions to see if you can crack the cipher. This cipher has 26 possible keys. How hard is it to crack?

Take a screen snapshot when you complete it. Show it to Ms. Gorski when you are done.

Original Message .

Message ) Letter Frequencies
. Standard English [Jli]

Srryvat grq ol n orngvat 2 g
urneg. V 1 vyy rag. Ohg ﬂ %0 E
xabj jurer—go ¥y vz gbb lbhat gb 8% -
hagrefgnaq. Gurl fnl V'z pnitug hc va n gernz. Jryy ywsr 5%
jwyy enff zr ol vs V gba'g bcra hc z1 rlrf. Iryy gung'f ond I I I
svar ol zr. Fb jnxr zr hc jura vg'f nyy bire. Jura V'z e I I I I I
jufre nag V'z bygre. Nyy guvf gvzr V inf svagvat zlfrys. I I I
Nag V quga'g xabj V 3nf ybfe. Fb jnxr zr hc jura ve'f 0%~ i n L o= i -

. . ogna-:4 B ¢ D E F G H I J KLMNUOPAG QRSTWUVWXYZ
nyy bire. Jura V'z jvfre naq V'z byqre. Nyy guvf gvzr V
jnf svaguat zlfrys. Nag V qvga'g xabj V inf ybfg. V an
gevrq pneelvat gur jrvtug bs gur jbeyg. Ohg V bayl unir .aaaaenn'n.nuaaaa.u v X 2
gib unagf. Ubcr V trg gur punapr gb geniry gur jbeyq. e 1 =0 _ = _ _
Ohg V gba’g unir mal cynaf. Jvfu gung V pbhyg fgnl a2 I I I I I I I I I I
sberire guvf lbhat. Abg nsenvg gb pybfr z1 rirf. Yusr'f
n tnzr zngr sbe rirelbar. Nag ybir vf gur cevmr. Fb jnxr 1
zr hc jurs vg'f nyy bire Jura V'z jufre naq V'z byqre. 2iq
Nyy guvf gvzr V inf svaqvat zlfrys Nag V qvga’'g xabj V 23 o
jnf ybfg. Fb jnxr zr hc jura vg'f nyy bire. Jura V'z 10% - E
Jufre nag V'z byare. Nyy guvf guzr V 9nf svagvat zlfrys. 1o E’

Naq V gvga'g xabj V jnf ybfg.

Caesar Substitution

Shift the substitutions left or ri:

@ ‘ : m

Random Cipher
This has 26 x 26 keys. It is trickier to crack. However, if you sort by the letter frequencies, it is easier to guess.

Take a screen snapshot when you complete it.

Sample ‘Write your own (7]

Original Message .

Letter Frequencies
Standard English [l

Message:

. &
Acq hy et 12% E
B2EL U Sample Message (hard) G EEUERRC 10% E
Zcocsvoi! veoornb njjl. Hgrixilz 8%
xein cx c winxclpt ha ghyzeov xv-xbh fiooihl fiotn o
in ¢l yxxtgov ilnizliaipclx oixxot royt zgttl doclix
behnt cdt-wtnptlwtw oiat ahgfn cat nh cfemilzov “* I lJJ
dgifixijt xecx xetv nxioo xeilg wizixco bcxpetn cqt ¢ = . I L . . l . J J
0% . =m

dgtxxv 1tcx iwtc. Xein docltx ecn - hg qecxetq ecw - ¢
fhnx ha xet dthdot hl ix btqt

Fclv nhoyxihln

MNOFOR T U V WX Y Z

YONE0DEEEEENNOG0.

oignat A B C D E

00000080

dghrotf, beipe bcn xein:

ylecddv ahg dgtocv fype ha xet xift.
btqt nyzztnxtw ahg xein dghrotf, ryx fhnx ha xetnt
btqt ocqztov phlptgltw bixe xet fhjtftlxn ha nfcoo

0%
zqttl ditptn ha dcdtq, beipe in hww rtpcynt hl xet -
behot ix bcnl'x xet nfcoo zqttl ditptn ha deditg xecx .
btqt ylecddv. Clw nh xet dghrotf gtfciltw; ohxn ha xet
dthdot btqt ftcl, clw fhnx ha xetf btgt fintgcrot, b
tjtl xet hltn bixe wizixco bcxpetn. Fclv bigt B
ilpgtcnilzov ha xet hdilihl xecx xetv'w coo fowt c riz 10% g
finxcgt il phfilz whbl aghf xet xgttn il xet aignx 12% g

docpt. Clw nhft nciw xecx tjtl xet xgttn ecw rttl c
rcw fhit, clw xecx 1h hlt nehyow tjtq ecjt otax xet
hptcln.
vtegn caxtg hlt fcl ecw rttl lciotw xh ¢ xgtt ahg

ncwilz ehb zgtcx ix bhyow rt xh rt 1lipt xh dthdot ahg

Random Substitution

Caesar Substitution

Clw xetl, hlt Xeygnwcv, ltcgov xbh xehynclw

Sort substitutions

Sort originals

AtoZ By%
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